
 1 

����� 1 

 

����	 
 

����	
���
���� 

 
 ������� (Hevea brasiliensis Muell. Arg.) ���������������� ��!"���#����$�%&'(�)*�
��+��$,��!����-�"����,�.�).���+��$�����"�� ���' �/��01����+��$,��23(4���5�����4(
,�.��'���!0�6�73' 7�������8*����39'��+��: 12.6 3.��,�= ����(��:'��!=�**'��+��: 2,632,398 
4�� (!-�1�� (������, 2548) DE����'��!=�**'6��9��8"����).� ���F2=���� �� ���*1FG.� F3+���
F�=� ��'��8��"�,�F���9�7��'�+1 �'�����*04!�G'�������23(4H�:IJ4=��K ���!����-
�"�,�6�.��+7���J,�. ��=� ����-��4J ���31 L� �6�!��,MMN� -0���* � �,�-E�23(4H�:IJ���6�.
���'��F���J ����4.� 6��/��01��43�����������F� 7�.�6�'��!=�**'��(��!9�)E8� F4='���������+
6G.2323(46���(��:!9�F3+���0:H��,�.��8� )E8�*�9='�1�/����G3����+�H� ��=� �8"�6��(� 5�40
*�G�� � ����8�!�����5J *0:GH9�( F3+F!� �*'��'��8'�����'��'��6G.�8"��=*�����!(��!"���#6�
��8�����������(��:�8"�O�,�=������*4=*� ��4.*�'��'��6�.�8"�)*���� (Gong et al., 2005) 4.�
�������'T��=����� '������������4.*�'���8"�6�'�����(#�4(174F3+6G.2323(4 '��,�.��1�8"�*�=��
������*)*�4.��������*���+�*�8*4=*'�+1 �'��4=��K H��6��D33J��� ��=� '������8"� '��
!������+GJF!� ����"���(�,�,�.*�=���G��+!�F3+!=�234=*2323(4�8"����4=*,�,�. (5��$, 2546)  
 !"�G��1��8��������G��+!�6�'���39'�����������+6G.23��,�.��8� �+4.*�����(��:�8"�O�
��'' =� 2,000 �(33(��4�4=*�U ���= �F3.�,�=�'(� 4 ���*� DE��!H��F �3.*��G3=���8�+*�9=���H��64.
F3+H��4+ ��**')*���+��$,�� F4=6��/��01����'����(����8�����39',����H���G��*F3+H��
4+ ��**'�L����G��* DE����8������8����(��:�8"�O��.*�' =� 1,500 �(33(��4�4=*�U F3+���= �F3.�
��'' =� 4 ���*� DE��3�'%:+���'3=� *���+!=�234=*2323(4�8"���� ����*���'���8"�6���(��:����"�'�� 
�����8��E��"������+4.*���'��$E'%���(��:� ��4.*�'��'��6�.�8"�)*�4.������������*6G.,�.2323(4
������0:H��F3+����(��:!9����!0� 
 '��$E'%���(��:� ��4.*�'��'��6�.�8"�)*����6�F�3��39'�����)���6G#=��8���'�� �����
�0=���' F3+!����-��+��(��=�,�.��''������8"� � ��!��03)*��8"�6��(� G��*,�.��''���"�� :
��'!94� Penman-Monteith DE���=����,�.�1 =��3����3��*���''��6�.�8"���(�)*���� (Nicolas et al., 
2005) �E�,�.��'����`��'��$E'%�� ��4.*�'��'��6�.�8"�)*����7��'�� ��*�4��'��,G3)*��8"�
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6�3"�4.�7��6�.� ���.*� !����-F1=����� 4  (5� ��*  (5���3!J� ���.*�  (5�!��03� ���.*�  (5�
!��03� ���.*�H��6�4.� F3+ (5�'�+���� ���.*� !"�G��1 (5�!��03� ���.*���8� �G��+'�1     
3"�4.������)����!.�2=��$9��J'3���.*�' =� 15 �D�4(��4� ��������)���3"�4.�6G#=' =��G��+'�1 (5�
!��03� ���.*�H��6�4.� (Lu, 2002)  �5�'�+���� ���.*����� (5�'�����6�.,MMN�'�+F!4��*�=��
4=*����*��E�����'��!(8���3�*�'�+F!,MMN� ����*�����1����1'�1 �5���3!J� ���.*������'��6�.,MMN�
'�+F!4���������� ):+G�E�� �G��+'�13"�4.������)����3T'��-E�3"�4.������)���6G#= F3+!����-
�'T1).*�934(�4=*'��,�.�����+�+� 3�G3�� �� (!���:GJ F3+�:+, 2546) '��$E'%�6����8���8��'�� ��
*�4��'��,G3)*��8"�6�3"�4.�)*�4.���������. � (5���3!J� ���.*� 7��6�.�����*���*�0=� PSU-
NRC (Sapflow sensor �0=� PSU-NRC) 
 '����3*�6����8���8�0=�$E'%� � ��!�����5J�+G =��*�4��'��,G3)*��8"�6�3"�4.�'�1
2323(4�8"���� 7����'�����'��'��6G.�8"�F'=4.��������6���(��:4=��K 4�8�F4=���*�������-E�
���*�'�'i��� �*'��'��8��'��$E'%�7���!�.��'�+��8)*����8*,�.������� �+��1� ��3E'���
�G��+!�6�'��4(�4�8�*0�'�:J6G.� ���.*�6�'�� ��*�4��'��,G3)*��8"�6�3"�4.�F3+
� ��!�����5J�+G =��*�4��'��,G3)*��8"�'�1��(��:F!� '�1'�+1 �'�����!��� (���)*�4.�
������� ����*����).*�93��8�&��6�'��$E'%�'��6�.�8"�)*�4.�������� 
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������� ���*�9=6� �$J Euphorbiaceae ��-(��'"���(�6�� ��*���('�'3�� �� �07����F�'���
�1�����* ��(!74�M*�J7�3��1�! 29.�.��1*���('�G��*73'6G�= F3+6��U �.$. 2442-2444          
��+����%i��0��+�(%&�G($�H�'�� (�*�D(�1�8 : �+�*�) ,�.�"�4.������'��+��$���3�D���).���
�39'���*"��H*'��4�� ���G ��4����������8�F�' G3����'��8�! ����,�.)���4� )E8�*�=��� ���T ��-E�
�/��01�� ��+��$,�� ��1����29.23(4������6G#=*����1F�'K )*�73' (�*'���, 2547) 

 
2 ������������ ���	��	
	 

 
�������������������3"�4.�����,�.���8**=*� *��0��� '�����(#�4(174���= ���'4� �����+�+K

6��= ������'4� ��'30=�)*�61�'3T��*13"�4.�F3+'(��*=*� 4.������'�����(#)�8�!*�F3. ��8��*'�+����
��3�*' (bark) DE��F1=�**'���� 2 ��8� ��* ��3�*'��8��*' F3+��3�*'��8�6� ��3�*'��8��*'
��+'*1�. ���3�*'FG.� ��!��8"�4�3G�� 0.65 - 2.5 �D�4(��4� ����*��3�*'DE������*��+G =����3�*'
FG.�F3+��3�*'F)T� ����*F)T� �D33JG3*�4+F'�� �=*�8"����'�+���*�9=1.���3T'�.*� ��3�*'��8�6�
��+'*1�. ��D33JG3*�4+F'�� �=*!=�*�G�� F3+ �=*�8"���� ���8*,�. (wood) ��+'*1�. ��=*
3"��3����8"� �=*!=��8"� ��8�6�!0�)*�3"�4.��������8*����*��8�6�!0�)*�3"�4.���G�.����!+!�*�G�� 
(���!o%pJ F3+�:+, 2541)  

4.����!�.���8"������''�+1 �'����F�1*3(DE�6��D33J������(��)*��+113"��3���
*�G�� DE�����!�.��)E8��+G =��'�����(#�4(174F3+�3��3=*�G��*)�1**'��!9=�*'�D33J����
)*��G3 )� )0=� G��*!��G3�*�*=*� !�.��)E8�6��=*�8"���� (laticiferous duct) F3+)�1**'��!9=
H���*'����*��1��F23�'(�)E8� (!�10#, 2548) '��,G3)*��8"������'4.��'(�H��64.!H� +����+11
3"��3���*�G����F�����*��!=�234=*�8"���� ,�.F'= turgor pressure F3+ osmotic system '��
��3����F�3�F������+F��2��4���=�� ����8�!�����5J)*�1����'�$ F3+F��2'2��4��*0:GH9�( 
'��)���03)*��8"�6�61F3+'����r���'616��*1 �� (Paardekooper, 1989) 
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2.1 �������	��"��#	�

$ ���	��	
	���%&$ RRIM 600 

 
 ���50J RRIM 600 ����������50J ��8� 1 �������50J2!��������'F�=���50J Tjir 1 F3+�=*���50J PB 

86 FG3=�'"���(�����'��+��$���3�D�� '�����(#�4(174)*�3"�4.����'3����8�6��+�+'=*���r�
'���F3+�+G =��'��� � ��!��"��!�*)*�3"�4.���8�F�3����'3�� � ��G��)*���3�*'��(�1�� 
��3�*'�*'6G�=G�����'3�� �����9���� ��(��23��61��T  2323(4!9���'6��+�+ 2 �UF�' F3+�U
'���4=*K �� 6��= �23��612323(4���H��64.3�3��3T'�.*� F4=3�3���'6���8����FG.�F3.� 2323(4
��(��)E8�6��+��1���'3������*6�.!��������=��8"���� �+11'��� ��E��3"�4.�  ��� .� �� 3�'%:+� ��
4.�����7����F�N�F3+61�0��9����'3�� *=*�F*4=*7����!����9 F3+*=*�F*��'4=*7��61�= �
����'(���'���8*,M�*�7���F3+�!.��"� ��4.���3�*'FG.��"�� ��.*� 4.�����3����'3�� �39',�.
6���8����3����� ,�=F�+�"�6G.�39'6���8���������G�.��(�4�8� F3+��8����������+��1�8"�64.�(�!9� ,�=� �
�39'6���������7��61�= �,M�*�7��� F3+7���!.��"��+1��*�=���0�F�� 2323(4�L3���'(73'���4=*
,�=4=*�U)*����50J��� RRIM 600 *�9=��� 289 '(73'���4=*,�=4=*�U 4=* 132  �����'��� (!-�1�� (������, 
2542) 
 

2.2 �,	�-�.���/����0/	��/1��	
��2��	��	
	 

 
 ���������'�����(#�4(174,�.��6���8�������*�9=6��)4�+G =���!.��0.���� 10 *�$�64. -15 *�$�
�G��* FG3=�23(4����������!"���#DE������(��:2323(4��'�+*�9=�+G =���!.��0.���� 6 *�$��G��*F3+
64. 6���8���������� ��!9���+��: 0-200 ��4� ��'�+��1�8"��+�3 ��O�4'�L3��� 2,000-2,500 
�(33(��4�4=*�U F3+���"�� � ��O�4'�L3��� 174  ��4=*�U DE����(��:F3+'�+���)*�O��G��+4=*
'�����(#�4(174F3+'��6G.2323(46���8�������'3=�  *�=��,�'T4�� ��8��������+�39'�������6G.
��+!123����8� � �����(��:�8"�O��L3���,�=4�"�' =� 1,350 �(33(��4�4=*�U F3+���"�� � ��O�4'
�L3���,�=4�"�' =� 120  ��4=*�U ���� ����8�!�����5J)*�*�'�$*�9=�+G =�� 65-90 ��*�J�DT�4J *0:GH9�(���
�G��+!�'�1'���39'�������*�9=�+G =�� 18-35 *�$��D3�D��! -.�*0:GH9�(4�"�' =���8�+��234=*'��
���(#�4(174)*�4.���� F4=-.�*0:GH9�(�L3���43*��U,�=F4'4=��'����'��'��* *�9=�+G =�� 24-27 
*�$��D3�D��! �+�����= ������� ���G��+!����!0�!"�G��1'���39'�����������*6G.,�.2323(4!9�  
�(�� ������(��= ����*0.��8"�,�.�� �����(�'�� pH �+G =�� 4.5-5.5 G�.��(�3E',�=�.*�' =� 1 ��4� 
7��,�=����8��(�F)T�G��*�(�����������*0�!���4=*'�����(#�4(174)*���'������� (���� F3+
�:+, 2542) 
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3 ���	�-��4�	/��	4�5 ���6�	
7��
�����	
�	��
�
����	 ����8 

  

3.1 ���	�-��4�	/��	4�5 ���6�	 

 
�8"���1�1��F3+����*��J��+'*1���!"���#)*���� ���!= �6G#=��+'*1�. ��8"���'' =�

�.*�3+ 90 )*��8"�G��'!� ��(��:�8"��+G =���.*�3+ 60-90 �"���6�.6�'����'%��9����)*��D33J
F3+�.*�3+ 10-40 *�9=6�!= �)*�2����D33J ����*�"�G�.��������4� '3��!=�2=��!���+G =���D33J �8"���
1�1��6�'����3��*��.��!��2=��!= �4=��K)*����F3+H��6��D33J �= ���'%�� ���4=�)*��D33J 
� ���8�����4� �"�3+3��!��*�(�����J !��*(�����JF3+F'x! �E�-�* =��8"���1�1��!"���#6��p('(�(��
����6�'��!������+GJ���J71,y���46�'�+1 �'��!������+GJF!� (!�10#, 2548)  �L3(��3 
(2535) '3=�  =� *�4��'����3��*����)*��8"�)E8�'�1� ��F4'4=��)*�$�'�H��)*��8"��+G =���(�F3+
1����'�$ ����*6�����(��:�8"��"�'�� G��*��',�=!����-�9��8"�6G.���'�1'������8"� ����+�'(�
� ���������8"� DE����23'�+�14=*'�����(#F3+2323(4 �+��'G��*�.*�)E8�'�1��(�)*���� � ��
�0�F��)*�� ���������8"�F3+�+�+� 3�����'(�� ���������8"� -.�G�'��(��:�8"�6����3�3��+
!=�236G.'(�'������!��� (���)*����3�3�,��. � �����8��8"��E���*(�5(�34=*���7��!=�23'�+�1
4=*'�+1 �'��H��6���� '�����4� )*��D33J '��)���)���)*��D33JF3+'��F1=��D33J '��
!������+GJF!� '������8"� F3+!=�23'�+�1-E�2323(4)*����  Rao F3+�:+ (1998) '3=�  =� 4.�
���6�!H���"�'���8"� ��� ����8�6��(�4�"� !=�234=*'����r���'61F3+'��,G3)*��8"���� 7���"�
6G.�'(�F������8"�6��D33J�=*�8"�����3��3=*��8"����**'��4���*�'���6���(��:3�3� ����*6��(�
���8"�������*4=*'��6�.)*�4.���� '����r���'61����*����8"�4��!H��1����'�$�+�G��+!�' =�
!H��� ����8�6��(�4�"� !=�234=*'�+1 �'��!������+GJF!� ��(��:F3+*�4��'��,G3)*��8"����
�E�!9�' =�!H������(����8"�,�=������*4=*'��6�. '��6G.�8"����������*6�!H� +������)���8"� �"�6G.
*�4��'��!������+GJF!�!9�)E8� F3+�1 =��=� latex vessel, water potential F3+ osmotic potential 
����,�6��($������� '�� (Vijayakumar et al., 1998)  '0�0� F3+5��$ (2545) �1 =� 1�(� :�����O�
����U�.*�' =� 1,300 �(33(��4� '��6G.�8"��"�6G.*�4��'��,G3)*�!��3+3��6�4.����!9�' =����
���(#H��64.!H���8"�O� F4=-.�1�(� :�����O�����U��'' =� 1,400 �(33(��4� '��6G.�8"�G��*,�=6G.�8"�
��(���4(��+6G.23,�=F4'4=��'��  
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3.2 �	
�4�������� ���6�	 

 
 '���"��8"���6�.6�'��'�+1 �'��4=��K6������8� ��'�������4� �9��8"���'�(� 7����'��
,G3)*��8"�*�=��4=*����*�6��+11�(�-���-1����'�$ ����'��,G3��'H��6��(�������=��3�����
$�'�J� �!9�' =�*�'�$ G��*61������3�����$�'�J� �4�"�' =� ����*�8"���3��*�����).�!9=H��6����3"��3���,�
���!= �4=��K )*���� 7��2=������=*�8"� '������8"�,G36��=*�8"��. �F���E�������=�!9� K ,�. ��* �8"���
� ������*�F�=� (cohesion) !9� F������*��+G =��7��3'03)*��8"��'(���'���5+,y7����� �+G =��
*+4*�)*�,y7�����)*��8"�7��3'03G�E��'�1*+4*�)*�**'D(���)*��8"�*�'7��3'03G�E�� �8"�6�
�=*�8"���'��'�+4=*����*��. �F������*�F�=�,���-E��8"����2����D33J)*��D33J���61 7���8"��+,G36�
�=*�8"�,�4��� ��4=��$�'�J)*��3������ ����� DE������F���E���'616�):+����������8"� F4=
����*6�������G�0�'������8"� ��=� 6�� 3�'3����� F���E��+2=*��3��3����'�*1-E�$9��J F4=H��6�
��'������ ��4=��$�'�J)*��=��3�����*�9= ����+� ���).�).�)*�!��3+3��H��6��D33J��'�����!9�
' =�H��6��(��!�* �����8��8"���'�(��+,G3�).�,�6��D33J��'43*�� 3� �"�6G.�D33J��'* 1�8"�
�����3������ �����G��*F���4=�)*��D33J!9�)E8� '��,G3)*��8"�)E8�,�6��=*�8"��E���3������'�).�
,�4��F���E�'3�������).�,�4��F����� F4=����F������.*�' =�F���E� �����8� *�4��'��,G36��=*
�8"��+��'��2��F��,�.!9�7����3����4��*�4��'������8"���'616��*1 �� *�4��'��,G3�+��
�=�!9�!0�6��= ������� �� F3+����**�4��'������8"�3�3�6��= ���.�F3+�= ���T� *�4��'��,G36��=*
�8"��+3�3�4��,��. � (!0����, 2535) ����*��'��$E'%�� ��!�����5J�+G =��*�4��'��,G3)*��8"�
H��6�3"�4.�F3+'������8"�6�4.� apricot �1 =�*�4��'��,G3)*��8"�H��6�3"�4.�F��2��4���=�
'������8"� ��*����*������=�'������8"������(��)E8�!=�236G.�=�*�4��'��,G3)*��8"�H��6�3"�4.���(��)E8�
��=�'�� (Nicolas et al., 2005) �*'��'��8 �!.�2=��$9��J'3��)*��=*�8"� �����1�1��6�'����3��*����
)*��8"� ��* *�4��'��,G3F��2��7��4��'�1�=��''"�3��!*�)*���$��)*��=*�8"� ����+L+��8� �=*�8"�
�����)���6G#=�=*��"�6G.�8"�,G32=��,�.6�*�4�������T  (!0����, 2535) 
 
4 �	
#:��	�	
18��6�	 ����8 

 
 '��$E'%�� ��4.*�'���8"�)*����6�4=����+��$��8� �� (5�'�� ��7��4��F3+'�� ��7��
*.*� DE��'�� ��7��4����G3�� (5� ��=� '��6�.-�� ��'��6�.�8"�)*���� F3+ '�� ��*�4��'��,G3)*�
�8"�6����7��6�.!�G��*!��'�����4���!� (Kramer and Boyer, 1995) G��*'�� ��*�4��'��,G3)*��8"�
6����7��6�.� ���.*� DE��!����- ��,�. 3  (5� ��*  (5�!��03� ���.*�  (5�'�+���� ���.*� F3+ (5�
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��3!J� ���.*� !"�G��1 (5�'�� ��7��*.*���8���G3�� (5���=�'�� ��* '�� ����(��:�8"�6��(� '��
�"�� :��'�=�'����r�-�r���'61 G��*'���"�� :��').*�93*040�(�� (���7��6�.!94� Penman-
Moteith ��''��$E'%������1����1�1 =��=����,�.��'�� ��7��4����� ��������4����'' =�'�� ��
7��*.*� (Smith and Allen,1996)  !���:GJ F3+�:+ (2546) ,�.�"�'�����1��0������*�'�� ��*�4��
'��,G3)*��8"�7�� (5���3!J� ���.*� ����*��(����+!(�5(H�� F3+3�4.��0�'���"��).���'
4=����+��$ 7��6G.���*�����*���*����"�'�����1��0�F3.  =��0=� ~PSU-NRC� !����-1���E').*�93,�.
*�=��4=*����*������ 3� 3 !����GJ ����*�����1����1�����*���* ��*�4��'��,G3)*��8"�)*� Greenspan 
Sapflow Sensor F3+ PSU-NRC �1 =��=����,�.����''�� ����8� 2 �����*����=�6'3.�����'��7����
� ��!�����5J'�������!.�4�� 
 

4.1 �"�;�-����4��4�	
��.��

	�0� ���6�	1���	
��<.���%�����$4�	/
��� 

 
 Marshall (1958) �1 =� '��!=�,MMN�'�+F!4���).�,�����=*�8"�)*���� �"�6G.�'(�� ���.*�
DE��!����-�"�� :����'����3��*����)*��8"� F3+��(��:'��6�.�8"�)*����,�.7��F14�4*����+!=�
'�+F!,MMN��).�,����4� 2=��� ���.*� ��'��8��8"��+�"�� ���.*���'4� 2=��� ���.*�,����
*0�'�:J ��*0:GH9�( 2 4�  ���4(�4�8��.��1� F3+�.��3=�� )*�4� 2=��� ���.*� ��8���8*0�'�:J ��
*0:GH9�(�.��3=�� �+-9'4(�4�8�6'3.4� 2=��� ���.*���'' =�*0�'�:J ���.��1� ��* 5 �(33(��4� F3+ 
10 �(33(��4� 4��3"���1 (H����� 1) �����8�����*� ���.*�-9'!=��).�,� *0�'�:J ��*0:GH9�(�.��3=���+
 ��*0:GH9�(,�.'=*�*0�'�:J ��*0:GH9�(�.��1� ����*G�0�6G.� ���.*�*0:GH9�()*�*0�'�:J ��
*0:GH9�(�.��3=���E�3�3� 6�):+����.��1������,�.��1� ���.*�4'�.�� 7���8"���3��*��������4� �"�
� ���.*�)E8�,� �"�6G.*0:GH9�(3�3��.�' =�*0�'�:J ��*0:GH9�(�.��3=�� (H����� 2') ����*� 3�2=��
,� *0:GH9�(��� ��,�.��'*0�'�:J ��*0:GH9�(��8� 2 4"�FG�=����=���=�'�� ����'�0���8 =� time delay (To) 
��*� 3���(��4.����*0�'�:J ��*0:GH9�(�.��3=��!����- ��*0:GH9�(,�.-E�� 3����*0:GH9�()*�*0�'�:J ��
*0:GH9�(��8� 2 ���=���=�'�� (H����� 2))  
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 ,	���� 1 '��4(�4�8�4� 2=��� ���.*�F3+*0�'�:J ��*0:GH9�( 

 ���F�3���' : Greenspan Technology (1993) 
 

 
 

,	���� 2 '����3����F�3�)*�*0:GH9�(���*0�'�:J ��*0:GH9�(*�9=�.��1�F3+�.��3=�� (') F3+ To ()) 
���F�3���' : Greenspan Technology (1993)     
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 7��*�4��'����3��*������=�'�123�9:)*��+�+���F3+� 3� Swanson (1962) *.��7�� Green 
F3+ Clothier (1988) ,�.�"� To ���"�� :G�*�4��'����3��*����)*��8"�4=*G�E��G�= �� 3���'!94� 
 Heat-pulse velocity (V) = (Xu + Xd) / 2To                                  �������..1 
����* V ��* *�4��'����3��*����)*��8"�4=*G�E��G�= �� 3� (�(33(��4�/����) 
 Xu ��* �+�+�����'4� 2=��� ���.*�-E�*0�'�:J ��*0:GH9�(�.��3=�� (�(33(��4�) 
 Xd ��* �+�+�����'4� 2=��� ���.*�-E�*0�'�:J ��*0:GH9�(�.��1� (�(33(��4�) 

To ��* �+�+������*0�'�:J ��*0:GH9�(�.��3=��!����- ��*0:GH9�(,�.-E�� 3����    
       *0:GH9�()*�*0�'�:J ��*0:GH9�(��8� 2 ���=���=�'��  
��'��8��"��=����,�.���"�� :G���(��:� ��G��F�=�)*��8"�6��=*�8"� 7���"��=�� ��

G��F�=�F3+��(��:� ����8�)*�'�+��8 F3+��8����G�.�4��)*�'�+��8 (Green and Clothier, 1988; 
Marshall, 1958) ���"�� :4��!�'�������8 

Sap flux density (J) = Pb (Mc + 0.33) V                                ��������2 
����*  J ��* ��(��:� ��G��F�=�)*��8"�6��=*�8"� ('(73'���/4������4�/��� 7��) 
 Pb ��* � ��G��F�=�)*�'�+��8 ���=���=�'�1�8"�G��'FG.�)*�'�+��8/��(��4�)*� 
        '�+��8 G�= �����'(73'���/39'1�$'J��4� 
 Mc ��* ��(��:� ����8�6�'�+��8 ���=���=�'�1�8"�G��'!�)*�'�+��8 � �8"�G��'FG.�)*� 
        '�+��8 F3. G���. ��8"�G��'FG.�)*�'�+��8   

0.33 ��* �=�� ���.*��"����+)*�'�+��8FG.�/� ���.*��"����+)*��8"� ���=���=�'�1 
      1.39 × 103/ 4.21 × 103 G�= �����'(73'��� 

V ��* *�4��'����3��*����)*��8"�4=*G�E��G�= �� 3� (�(33(��4�/����) 
 )�8�4*�!0��.���"����"�� :*�4��'��6�.�8"�)*���� (Volumetric flow rate) ��'!94� 
 Volumetric flow rate (Q) = H∫

R2¶r J (r ) dr                           �������3 
����* Q ��* *�4��'��6�.�8"�)*���� (3(4�/��� 7��) 
 J(r) ��* ��(��:�8"�����+��1� ��3E')*���$��3"�4.���=�'�1 r (3(4�/4������4�/��� 7��)
 R ��* �+�+��'�0�$9��J'3��3"�4.�-E�)�8��*'!0�)*�'�+��8 (�(33(��4�) 
 H ��* � ��G��)*�F'=�,�. (�(33(��4�) 
 2¶ r ��* ��8����G�.�4��)*�'�+��8 (4������4�) 
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4.2 �	
#:��	�	
18��6�	 ����8<.���%�����$4�	/
��� 

 
 Green F3+ Clothier (1988) $E'%�'��6�.�8"�)*�4.�F*���r�3F3+'� �M�047�� (5���3!J� ��
�.*� �1 =�'��6�.�8"�)*�4.�F*���r�3F3+'� �M�04��� ��!�����5J'�1��(��:F!����,�.��16�F4=3+
�= �)*� �� 7����(��:'��,G3)*��8"�6�3"�4.���(��!9�)E8�6��= ���.�F3+!9�!0�6�4*�'3�� ��
F3+�+3�3�6��= ���T�  (�:��J (2543) $E'%�'����3����F�3�*�4��'��6�.�8"�6�4.��0����� ����0� 
���+ F3+3*�'*� �1 =� *�4��'��6�.�8"���� ��!*��3.*�'�1��(��:F!� F3+'��4*1!�*����
!��� (���6��*1 �� ��* ����*��(��:F!���(����')E8�6��= ���.� '����'�"���'61F3+*�4��'��6�.�8"�
���=���(��)E8�F3+-E��0�!9�!0�6��= �4*�'3�� �� ��'��8��+3�4�"�3�!9=!H���'4(6��= ���T�����*
��(��:F!�3�3� �����8� *�4��'��,G3)*��8"�6�3"�4.������� ��!�����5J'�1'����3����F�3�
��(��:F!�������,�.��16�F4=3+�= �� 3� ��* ����*��(��:F!�4�"� *�4��'��,G3)*��8"�6�3"�4.����'T
�+���=�4�"� ����*����(��:F!�!9�)E8� *�4��'��,G3)*��8"�6�3"�4.�����+���=�!9�)E8��. � F3+����1 =�
*�4��'��,G3)*��8"�6�3"�4.���������� ��!�����5J'�1)���3"�4.�G��*��8����'�+��8 7��-.�3"�4.���
)���6G#= *�4��'��,G3)*��8"�6�3"�4.�'T�+���=�!9� F4=-.�3"�4.���)����3T' *�4��'��,G3)*��8"�
6�3"�4.�'T�+���=�4�"�,��. � (!���:GJF3+�:+, 2546) 
 Olbrich (1991) $E'%�'��6�.�8"�)*�4.��9��3(�4�! (Eucalyptus grandis) *��0 3 �U ����8����
'�+��8 62.7-97.1 4�����D�4(��4� (�!.�2=��$9��J'3�� 12.1-15.5 �D�4(��4� ) 7�� (5���3!J� ��
�.*� �1 =� 4.��9��3(�4�!��*�4��'��6�.�8"� 3-11 3(4�/��� 7�� �+G =��� 3� 10.00-14.00 �. 6�):+
���4.��9��3(�4�! *��0 16 �U ����8����'�+��8 371.1 4�����D�4(��4� (�!.�2=��$9��J'3�� 41.27 
�D�4(��4�) ��*�4��'��6�.�8"� 35-45 3(4�/��� 7�� 6��= �� 3����� '�� �0=����*� (2537) $E'%�'��6�.
�8"�)*�4.��9��3(�4�! (E. camaldulensis) *��0 14 �U ����8����'�+��8 159.6 4�����D�4(��4� (�!.�2=��
$9��J'3�� 31 �D�4(��4�) 7�� (5���3!J� ���.*� �1 =� �/����!"���#�����234=*'��6�.�8"�)*�4.��9��
3(�4�! ,�.F'= !H��H9�(*�'�$ �+�+� 3����,�.��1F!� F3+��8����'�+��8 7��6����*���%��������
*0:GH9�(�L3��� 33 *�$��D3�D��! 4.��9��3(�4�!6�.�8"� 157 3(4�/ �� !"�G��16� �����O�4'F3+�����
��' *0:GH9�(�L3��� 20 *�$��D3�D��! 4.��9��3(�4�!6�.�8"������ 59 3(4�/ �� !"�G��16�4.�'�+-(�
�*������*��0 20 �U ��'��6�.�8"�6��*1 ��F4'4=��'��4��o�9'�3 7��6�o�9G�� ���=�'��6�.�8"�!9�!0� 
�*�3���o�9�.*�F3+o�9O� DE�����=��L3��� 21.25, 14.91, 13.44 3(4�/4.�/ �� 4��3"���1 ����*���' 6�
o�9G�� ��!H��1����'�$����G��+!� ��* ����(��:F!�����*�G��+ F3+�=�'���+�G�)*��8"�!9� 
���!����-�E��8"����!+!�6��(���6�.,�.*�=���G��+!�' =�6�o�9*���K F3+����1 =���(��:'��6�.
�8"�2��F��4��)����!.�2=��$9��J'3��3"�4.�*�'�. � (��!�� F3+�:+, 2546)  



 11 

��
=&�
���4$ 

 
 1. $E'%�7���!�.��'�+��8 F3+'����������4� )*��=*�8"�6����8*,�.������� 

2. $E'%��+��1� ��3E'����G��+!�6�'���/'G�  ��*0�'�:J'�� ��*�4��'��,G3)*��8"�6� 
3"�4.�)*�4.�������� 

3. $E'%�'��4*1!�*����!��� (���6��*1 ��)*�4.�������������'�����'��'��6G.�8"�6�
��(��:4=��K 

4. $E'%�� ��!�����5J�+G =��*�4��'��,G3)*��8"�6�3"�4.�'�12323(4�8"����)*�4.� 
������� ����*����F� ���6�'��6G.�8"�F'=4.�������� 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


